Material Master 8-5

Order of Operations

Book 8, page 13

Work out the answers in the spaces provided. Check on a scientific calculator that the
answers are correct. Discuss the answers in class.

Problem

Working Space

Calculator
Answer

2x(B3x4+4)-3x(3-1)

24-2x(8-3x2)-8

400 +4+2x4-100+10

(12+2x3)+(2+2x2)

24 +12+(12-2x3) =2

(15+5)+B3+(3-2)x2)

2x(3x(4-2)+6)

24 +2+3+24+12+2-5

100 +2x10+5+(8+2+
2)

200 + (12-2x4) = (8-13)

200 + ((12 x 3 + 4) +10)

2x(2x(9-3x3)+1)-1)

10+10+ 12+88  11-1
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